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@ RI=Et (RHEHDH) (B : FH. %)
=it X o SEE 2FEF 1R AR ES
w % & 25, 449 28,141 A 2,692 A 9.6
RIRFRHE 1,637, 7411 1,651,028] A 13,287 A Q0.8
ERBERIESEMSE 554, 768 563, 974 A 9,206 A 1.6
FHRRELESNEE 1 1 0 0.0
= HAREFEREE 45 47 A 2 A 4.3
g e
ERRREES R REEXE 20, 100 17,829 2,211 12.7
EEBUE 1 1 0 0.0
HXH® 2,052 2,052 0 0.0
¥ & & 5,000 5, 000 0 0.0
a &t 2,245, 157{ 2,268,073 A 22,916 A 1.0
254 X % SEE 2FF 18R GBS
w B & 8,514 7,995 519 6.5
o ; Py ~n | B B 185 185 0 0.0
TEHFEESFEAEREERG = B & 100 100 0 0.0
a & 8,799 8, 280 519 6.3
234 X % 3EE | 2&F | mEE e
w % & 61,120 64, 591 A 3,471 A b4
REEREFEFRFHIRE ¥ ik & 2,000 2,000 0 0.0
= 63, 120 66, 591 A 3,471 A 5.2
234 X % 3EE | 2&F | HAE ik
w B & 2,874 102, 928 A 100, 054 A 97.2
p = EIE X 1 1 0 0.0
=] A=
ii‘mﬂy‘[ﬁi*ﬁgllﬁn-l- % ﬁ% % 50 50 0 0 0
5 & 2,925 102, 979] A 100, 054 A 97.2
it X % SHE 2FE 1EIREE GES
w B B 18,275 18, 238 37 0.2
[RIgE & it 364, 595 349, 090 15, 505 4.4
rRUAShEERENSE X HE 151 151 0 0.0
¥ & & 50 50 0 0.0
a &t 383, 071 367, 529 15, 542 4.2
ONEEXRF (MHEDH)
REt4 X % SEE 2FF 1EIREE GBS
IR A X H 591, 084 601,649 A 10,565 A,
TKEEFERE BEARMIX 489, 036 480, 904 8,132 1.7
& &t 1,080,120 1,082,553] A 2,433 A 0.




